MATH 132(DUE 2-25 AT START OF CLASS) PrOBLEM SET IT .

Please work the problems in the white space provided and clearly box your solutions. If there
is not enough space please write the answer in the given space and indicate that the work is
supplied on a separate sheet. Be sure to label attached sheets with the Problem number so the

grader can efficiently judge your solution. Enjoy! .

Problem 17 Suppose C is the set of all points (z,y) € R? which solve zy —y = 1. The goal of this
problem is simply to examine how C can be described as a level-set, graph or parametrized curve:

(a) find F': R%2 — R such that F-1({0h)is C
b F(xy) = X9-9Y-\ S F(x¥)= 0 derwle
C  and Hrug F‘rﬁm}({u}) = .

(b) find f:dom(f) CR =R such that graph(f) =C

Db L) = e x # L (domte) =R~ 1] )
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() findz: J; SR —+Rand y: J; CR - R such that {(z(t),y(t)) | t € 1} C C (choose
parametric equations which cover the right-branch of C)

b X =t and 9= gop  Po M AT = (1,09,
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(d) findz: s CR—=Randy:Jo CR — R such that {(z(t),y(t)) | t € 2} C C (choose
parametric equations which cover the left-branch of C)
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Problem 18 Suppose ¢ =1* — 263 +¢% and y = ¢* — ¢ for ¢t € [~2, 4] is a parametrization of the curve

C.
(a) make a table of values for t = —2,—1,0,1,2, 3,4 and plot the curve by plotting these points
‘connecting the dots as smoothly as possible. ? ' -
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(d) calculate -‘é{j and find any critical points for the path.
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Problem 19 Creating parametric equations for given level curves is generally an art. However, the
questions that follow are either in my notes or are really close to something I do show: in each
case find parametric equations and state the domain for the parameter which will reproduce the

. given curve including any constraints, you are free to use either vector or scalar notation ( you
can just state the answers on this page, I don’t expect derivations here)

" (a) find the parametrization of the linear path from (0, 1) to (4, -3).

(£} = '(0,1) + 7&;((%_3)_(0/})] .v B w}

= Loy + & {4, -4 = <L[1L§‘:"‘L”E> = () J
) for o< A= | /

(b) find the parametrization of the linear path from (4, —3) to (0,1).
Diien) T = Lt = Lo, (ry B mISk= 0
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p or X =4-9F , uldj=-3+vF A osF </

y =

-

(¢) find the parametric equations for % — 2z 4+ = 0 for y > /3 /2 where the curve is oriented
\"———'__"_'_’—V"——'—v

in the CCW-direction. 2 2 , {
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(d) find the parametric equations for 22 — 2z +y2 = 0 for y > v/3/2 where the curve is oriented
in the CW-direction.
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(e) find parametric equations for the Llp‘ipef branch of 2 — 2(y — 2)% = 1.
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(f) find the parametric equations which locally cover for y?z* = 1 in a neighborhood of (~1, —1).
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Problem 20 Vectors have both magnitude and a direction. This direction is conveniently described
by the so-called standard angle. For this problem, make your standard angles fall in the range
g € [0,2%). You'll need to do some thinking about trigonometry here, the calculator might,let
you down. Draw pictures to be safe. ( Sar %) I meand  Fu $ é«v ﬁhj é ) '

—————

(2) A=(1,3) SHE) = v =
A= o 2316 For (_-’) S CATX1Y
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(e) plot all four vectors in a single plot.

‘M\ / Y
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Problem 21 Vectors correspond to points in a very natural manner. For each of the points below find
the distance from the origin to the point and the standard polar angle of the given point:

oL

A

(a) A=(1,3)

dp= llo B, = 1244
(b) B=(2,-3)

Jo= 13 | Oy =
(c) C=(-3,0)

Cfic"'3 /(9(____7-}“

(d) D=(-2-2)

CJ{):’—)/_Q—/ 9925%

(e) plot all four points in a single plot. RN




Problem 22 Suppose 7(¢) = ( tsin(t), ¢sin(t) ) denotes the position of a particle at time ¢.

(a) find the velocity at time ¢

< S;ﬂi‘ +7E'caj,‘f“' Sin"?t 'i"(:@,fi>]

(b) find the acceleration at time ¢
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(c) find the displacement vector from ¢ =0 to ¢t = 27
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(d) find the distance travelled from ¢ =0 to ¢t = 2
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Problem 23 Suppose d(t) = (D, —g) is the acceleration of a particle by gravity near the surface of the

~ earth. Futhermore, suppose the particle begins at the origin with velocity #(0) = ('um, voy). Show

that the Cartesian form of the path is a parabola. Your answer will involve the initial velocity
components and g. ' ' ' '
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Problem 24 Suppose @(t) = (2,5) is the acceleration and #(1) = (3, -2) and 7(0) = (1, 1>_. Find:

(a) ¥(¢) (the velocity vector at time ) |

= <a,5> = 4V s Ty = <5t >+ @
_:.7/]&%@!‘ \7:‘(/):: <3 _,_,‘;?> (a 5> e .

L E = ¢3- - <a, 5y = <!,' -~
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(b) 7(t) (the position vector at time ) .
v = <gi— + SA~7> = 3{3%
Cy = {2k, §4°- 74D
T = 1, by = Lo, oS + G

= |Fu= £ te |, SH- :;;z+i>j

DL

{c) s(t) where we take ¢ = 0 as our base point. This is the arclength of the path from ¢ = 0 to
time ¢ > 0, in other words s(t) is the distance travelled during [0, z].
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Problem 25 Suppose 7(t) = { 2sin(3t), —3sin(2t) ). Find all: D
(a.} horizontal tangents, (b.) vertical tangents, (c.) eritical points

Then (d.) plot the curve (use CAS or draw neatly by hand).
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Problem 26 On parametric calculus:

(a) Problem 40 from Section 11.2 of Stewart.
(b) Problem 65 from Section 11.2 of Stewart.
(¢) Problem 69 from Section 11.2 of Stewart. .
(d) Problem 74 from Section 11.2 of Stewart.
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Problem 27 On arclength:
(a) ¥ = In(sec(z)) for 0 < z < 7w/4.
(b) the path with parametrization 7(A) = (A2, A?) for A € [0, 2]. .
(

c) the path with parametrization z = 2* cos(t) and y = 2*sin(%) for ¢ € [0, 7/2]
(d) Problem 38 from Section 9.1 of Stewart. | '
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Problem 28 On surface area: ﬁ (C\)“ﬂ)
(a) Problem 8 from Section 9.2 of Stewart.
(b) Problem 16 from Section 9.2 of Stewart.

@Pmblem 28 from Section 9.2 of Stewart.
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Problem 29 On physics:

(a) Problem 10 from Section 9.3 of Stewart.

(b) Problem 30 from Section 9.3 of Stewart.

(c) Problem 23 from Section 6.4 of Stewart.
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Problem 30 [worth 3pts, 2 of which are bonus!] On polar geometry:

(a) Problem 10 from Section 11.3 of Stewart.
(b) Problem 20 from Section 11.3 of Stewart.
~ (c) Problem 24 from Section 11.3 of Stewart. - -
(d) Problem 30 from Section 11.3 of Stewart.
(e) Problem 42 from Section 11.3 of Stewart.
(f) Problem 60 from Section 11.3 of Stewart.
(g) Problem 66 from Section 11.3 of Stewart.
(h) Problem 70 from Section 11.3 of Stewart.
(i) Problem 79 from Section 11.3 of Stewart.
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Problem 31 On polar coordinate-based calculus:

(a) Problem 12 from Section 11.4 of Stewart.
(b) Problem 18 from Section 11.4 of Stewart.
{e) Problem 26 from Section 11.4 of Stewart.

(GL) Sketdn Y"‘— A—sin@ and Aind 'D\r.e,'c.;_ | 'aﬁ.cl,ﬁ.ej-.

L
T o 3
7

> ©

T+l clesyr ~his boeunds o

clored Cepiva arvand  oriyin 0= M < = SO Hfur 0£0£3TL

/e
A:f L(a-5n8) "o
aan* 7

i}

L (v /ﬁ@+m3@)d9
ﬂ[@ + -QL[/— Corfﬁﬁjjéﬁé%‘
m%ﬁ/d@ = )17 |

[
&y
3
’.al}
{

([7) r= Ysin 30, celwtd  arca "éwg‘f’?

UDUR—_I P
e e b o 4 £

L (/{,a u;ﬂ

T
A= 3% L 3@/2&’@

7
= S‘f"ﬁ g sn*20 de
= g% U (\ wf&f{é@}j &»@

[q@ - %‘L sth (68)

= - o) = ()
-0

f

s




Problow. 3lc Sy # 28
]";;}na! e Acq"fuue@») ;',"ﬁ_ 2 4~J’/h(9 amd f'?':.: Eﬂ/’l@

’huo Co Lan
KK ™
1) S o= 6 =7
2and <« ¢ = A+rné

O < =< S5n®

T e to drow
lines E“‘mdi:,,Uza {%am
ori @5‘:?{\ o help W
Ger )ﬁ‘x&, f"{;ﬁ,‘\.;ﬁ@ El:,xw\nagg _
’ﬂf\ff 1‘\&»{9@@9 e bRl
diffecena  betwaen W ppes
Q’ lower  faif,

| - o
I — / / . 4 ra "2
A f& E[(a +5n0) - @’fm@)_/o@ + : _is’;{; O 48

— fw_i’f[q+ {sins - c?rmz(.f)]&@ "‘/_7_,
) I

e e
_———_\\\_\/—

e — )

= Y + 94

= 19
[y

277“'(7
= Sin Z@" e




Problem 32 On polar coordinate-based calculus:

(a) Problem 30 from Section 11.4 of Stewart.
(b) Problem 38 from Section 11.4 of Stewart.
(c) Problem 46 from Section 11.4 of Stewart.
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